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1)5 HW 11-2

2) Arithmetic, d = -2
3) Neither

4) Geometric, r =

Bl

5) 39,366
6) .000005
7) 64

8) —ior—l.é
3

9)324
10)8,-8,8
11) 24,36, 54
12) -10, 20, -40
13a) $33,600: $35,280
b) 1.05
c)a=a 105
d) a, = 32,000(1.05)"!
e) $49,642.50, T used the explicit rule so I could get the 10 year salary directly by using
n =10. I would have had to use the recursive formula several times to get that.
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Marme J{"ﬁ_ﬁt—— Alg g HW 11-2
I, If asequence is defined recursively by 10} = 2 and fin+1) = -2F(n) + 3 for n £ 0, then

n= fgd-zizf:foﬂl—gi_,lﬁ == +3: ~—1{‘r_}+3‘ -l
nov = L =gl s-a fe 43 = 2 U3

cEa)= 5

For 2 - 4, determine |f each sequence is arimm-ﬁc_,g;.umgh-i:, ar nelther, If possible,

find the commen dif ference o ratia, " 'I'i L

FALEA A
2. -10,-12, 14, <16, .. 3 -, L23,. 4, -320,-80 -20,-5,, |
it d=-2 [\J&M G&MJML (= q

VIASL, G %’}E«'ﬂf""‘-%ir""\hﬂﬂ\ +o
For H - T.ﬂfwi the 10" term of mh_‘g;uq_rneﬂ‘!c Sequence,

5. 2,6,18,54,162, . 6. 5000, 500,50, 5,05, .
= j = ;{T'ﬂ -5
G,=ALS 4 P
Chy = UNALTS Q= sotefm)
o “-Jq 5@@) Hn e o0a0S
a_—,
7. -0.125,0.25, 05,1, 2. . Ong= " hos(-2)
=25 . -
=5

NATS TN ﬁ)r‘Mu_ﬂu. L
For84 9,/1':ind the 6™ term of the grometric sequence with the given terms.

B oas=-12 004 ~ 5.{.413-40;-1'35 — ) L-L
F=2l 4 o =2, T RO}
q - o5 =0, O 3 afd-;ﬁ'{'jl

G\h—gsfﬁj @E’_ "f a{g:y(g—“)

ou- 4l {) )

0cThd =3
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For 1 = 12, generate the next Thees Termd oF 00N Pomerric SEqUERCE.

iﬂ_m:-n!lﬂhr'-']-]f"._ _i I g=ae -u.ndn. 16 -
Gy = -4 )3T «:J:--_—Ié:r_h
Otz w3 €| A= Jq
-'”__z"ll.,[-- Et—‘}fl-kﬁ‘ _r,-';t'ql— r-.-‘_'::

12. fin) = fin - 1} « -2 ond (1) = 5
lL)=d0) -8 fL-/ém_)
:ijﬁ'-'lﬂ' L =

Fd ) = e * I!E B
13, & meoth teacher arns 332 000 in his first year of teaching. Each successive yeor, he
S (00Tt S = 105 %

a) Find his sobary for year £ and year 3, '_Fj_ :
jeard = Thaw T o5(31000) =33 EsD N\

[,.:_.r.li';:-{,.-{__j = --'-.ﬁ{j:.:' +, 0 kj'ﬁ.lﬁl'_l!:ljl\:‘.j 5’:1@

b} Find the somman ratie for this geametric sequance,
~o 3BEOD i pg

' T IO e
a2
VSRR RS o 0
a ¥ LA
Oneiny € 5 GG 105 ik
DA
o] Write an explicit rule, a., in Terms of n- 1 I|H"“":l"—-ll'cl'- 'i|'|_-LLJ '|"d -'r.-':.ei-l. -I'-"H fﬁt‘”ﬂ"'ﬁ w'.Iif“"-
& - o I'"‘-Lﬂ:'__ .1 -|-E-.-_,-L oy Fa *H-EW lr-,-q_,q-fnf'ﬂ
e T \J r?-_'lz*'ll' L=

€} E::"rﬂmlnz hi2 galery Far year 100 Which rul%mﬁlﬂﬁd ‘ﬂ-é-‘*:—"" - fale
O = SLooa (. ﬂ'f’lbﬂ g5 T pouddl 5*_PL+*E“‘PM
SRy LU LSS0 [0 pear FAlaAY OrATL .
o "‘-=--i£r:}lhi;_"_ g E‘J-laf—%ll.&-l e 10 L Ldgadel
howrt had o ust e
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Summation Motation 'Day 3

. \
Summow‘hOY\ NO_\‘Q\“\OO can be used to represent the sum of any
sequence of numbers (not just arfthmetic or geometric sequences) which can be defined by a rule (formula).

The sum of a sequence is called a Sece S

1. 2.4 8 16. iz a geometric 'je‘?;(gng
1+2+4+8+16 isageometric Ney

SUMMATION (SI&GMA) NOTATIOMN

if(kil=fiﬂll—fiﬂ—13—fiﬂ—?J—---fEﬂJ

where K is defined as the index variable, which starts ot a value of g, ends ot a value of #, and increases by
1 each time.

For example, the series 1+ 2 + 4 + 8 + 16 can also be written as follows:

4 (o] | "l’
¢ =X+ +2 s t2
<0 )+ + ¢ +8 +l6 :@
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L. Expand each series and evaluate.

5 3 2 14
o 2,2k N ¢ 2o
k=3 | =y

QA3 xa(h) +AUD (_,5;1 $0 AT

L + X IO | +o +1+4+9 I
@ I+?\_ l=lo-”7"
94 779 S

. z( 1y . 320(2m-1)
(,3 + (- +- -y +(-D NN BEZ@_I 2)-1 & 20 -}
L~ e s

G 3(aac3) (D
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2. Consider the sequence defined recursively by a, = a,; + 20,2 and oy = O and az = 1. Find the value of:
Q= a t Zq) = \+2(0) = )3
a = q3+q‘,+95 &y = Q3-\-7.Q1“ }‘\'3.(\\)—

IR @ d-daananid=s

s e
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3. Express each sum using summation or sigma notation and use nas your index variable.

7 ]_\"; N-w"' \f"’ - lxsl“5 5 0%
a)-4+-1+2+5%¥ %17 b) —+—+1+5+" 1625

_q-\—dl(_nb A= 1234 e
s -4 +3(n-1) Qo= 0.0

Ap = gs(5>
Z(-qﬂm@

c)9+16+ 25+ +100
) 2 3

10
2
Z.n
n=3

March 19, 2019
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Y

X Chriee T2 WK OO TS
D> 3 1—/32
2) > ﬁl({)°1—%>'-i~..z%§?
N- &

= mS
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4. Which of the following represents the sumof 3 + 6 + 12 + 24 + 487

5 4
o 23" @ 26
k=1 k=0
4 B 48
@ 2.3(2) @ K
k=0 k=3

March 19, 2019
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